C M12x1.75~F 5 EmLEL- ! )

L T28YT e

ARy T /SUSEHRA Ny
TZ-PO / TZ-SUS-PO

) WU AN & 2R hLE #m U7 aTR: MK
3M0.5 M3 x 0.5 5 G5 46 11 3 T
4M0.7 M4 x 0.7 5 G5 | 52 | 13 3 5 20 2
5M0.8 M5 x 0.8 5 G6 60 16 3 55 = 22 2
6M1 M6 x 1 5 G6 62 19 3 6 25 2
8M1.25 M8 x 1.25 5 G7 | 70 | 22 3 62 34 3
10M1.5 M10 x 1.5 5 G7 15 @ 24 3 7 39 3
12M1.75 M12 x 1.75 5 G8 82 29 3 85 43 3

AINAZIVEYT/SUSRHRINASILEYT
TZ-SP / TZ-SUS-SP

% U B %R 2R hwlE #E U7 ETRS MR
3M0.5 M3 x 05 25 G6 46 5 3 4 18 2
4M0.7 M4 x 0.7 25 G6 52 7 3 5 20 2
5M0.8 M5 x 0.8 25 G6 60 8 3 55 22 2
6M1 M6 x 1 25 G6 62 10 3 6 25 2
8M1.25 M8 x125 25 G770 12 3 62 34 3
10M1.5 M10 x 1.5 25 G775 15 3 7 39 3
12M1.75 Mi2x175 25 G8 82 17 3 85 43 3

CIEIESE)
BRI B MU (m/min)

W &AM {E B SRS RFRMA A& =EEER ATULAM | 7S

SS CO0.2%LLF CO0.3%LLE SCM,SCR 20~40HRC |SUS FC,FCD AC,ADC
T;'KZ,-QS‘L?#I/Z—SUS-SP 5~10 8~15 5~10 5~10 4~8 6~12 10~20
'TZ:OF\TZ-SUS—SP 6~12 10~18 6~12 6~12 5~10 8~15 10~20
WSRO BEAR AR, B B ARl i

A1 RPOBERF-BNGBETHY, CERAKEFICEYIBIZHEEBRLTTAL,
)2 RPOBEIZRLORED(RLOMUREDE) HFBETT, BORLOBARX TRORBERCTHHLTTAL,

RLoRE "
1. 5SDLLF 1.0
1. 5D~2. 5D 0.9
2. 5D~3D 0.8
3DELE 0.7

TZ %>

—ZCREVERETSTERTRELTBY 23 . —




